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63 x 20% = 16 x 60% =

4> 10% = 86 x 10% =

57 x 30% = 26 x 40% =

84 X 90% = 68 x 20% =

60 x 60% = 49 x 60% =

62 x 70% = 86 % 50% =

94 % 70% = 94 x 30% =

87 x 90% = 42 x 90% =

61 x40% = 75 x 40% =

56 x 40% = 73 % 30% =
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63 x20% = 12.6

4x10% =04

57 x30% = 17.1

84 x90% = 75.6

60 x 60% = 36

62 %< 70% = 43.4

94 x70% = 65.8

87 x90% = 78.3

61 x40% = 24.4

56 x40% = 22.4

H -

16 X 60% = 9.6

86 x 10% = 8.6

26 x40% = 104

68 x 20% = 13.6

49 x 60% = 29.4

86 x 50% = 43

94 x 30% = 28.2

42 x 90% = 37.8

75 x40% = 30

73 x30% = 21.9
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